J | X hie )3 [Race

Series SOS/2 | Code No. 58/D/3
DA
Rbll No. ’ Candidates must write the Code on
ﬁ—a = ' the title page of the answer-book.
RIg BIs Bl FA-YReADT & gE-US
| W= 3ra%g ford |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should bé
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 32 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer script during this period.
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General Instructions :

()  All questions in both the sections are co;ﬁpulsory.

(ii)  Marks for questions are indicated against each.

(iii) Questions No. 1-5 and'17,-21 are very short-answer questibns
carrying 1 mark each. They are required to be answered in one
sentence each. '

(iv)  Questions No. 6-10 and 22-26 are short-answer questions
carrying 8 marks ecach. Answers to them should normally not exceed
60 words each. ‘

(v)  Questions No. 11-13 and 27 — 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi)  Questions No. 14-16 and 30-32 are long-answér questions

: carrying 6 marks each. Answers to them should normally not exceed
100 words each. :

(vii) Answers should be brief and to the point and the above wofd limits
should be adhered to as far as possible. '
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SECTION A
e A

What is ‘opportunity cost’ ?
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Give meaning of “Change in quantity supplied”.
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Define ‘Revenue’.
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What is market equilibrium ?

. Define market demand.
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Giving examples, distinguish between fixed cost and variable cost.
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A consumer buys 9 units of a good at a price of ¥ 11 per unit. When
price falls to ¥ 9 per unit the consumer buys 11 units. Using the
expenditure approach, what will you say about price elasticity of
demand of the good ?
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10.

Note :

qe :

11.

E’Xplain the implication of the feature ‘freedom of entry and exit to
firms’ under perfect competition. :

OR

Explain the implication of the feature ‘Tlarge number of sellers’ under
perfect competltlon
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Explain how a production possibility curve is affected when resources

are inefficiently employed in an economy.
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Draw Total Revenue Curve and Marginal Revenue Curve of a firm
which is free to sell any quantity of the good at a given price. Explain.
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The following question is for the Blind Candidates only, in lieu of
Q No. 10.
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Explain the relation between Total Revenue and Marginal Revenue of
a firm which is free to sell any quantity it likes at a given price.
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What is ‘marginal utility’ ? Explain the law of diminishing marginal
utility with the help of a utility schedule.
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12.  Explya'in how a fall in prices of the related goods affects the demand
- for the given good. Give example. 4 4
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13. What is a supply schedule ? Explain how does change in technology of
producing a good affect the supply of that good. 4
OR

" Define supply curve. How does fall in price of an mput affect the

X

supply of the good using that input 2 , 4
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- 14. Giving reason, explain the behaviour of total product under the Law of

Variable Proportions. Use diagram. 6
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Note : The following questzon is for the Blmd Candidates only, in lieu of
Q. No. 14. :
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Giving reason, explain the behaviour of total product under the law of

‘variable proportions. Use a schedule. ~ 6
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15, Explain three properties of indifference curves. L 6
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16. Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use diagram. 6

OR

Distinguish between ‘cooperative’ and ‘non- -cooperative’ oligopoly.
Explain the following features of oligopoly : 6

) Barriers to the entry of firms
(i)  Non-price competition
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Note :  The following question is for the Blind Candzdates only, in lieu of
®. No. 16.
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Market for a good is in equihbrium Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use numerical example. 6
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17.

18.

+19.

20.

21.

22.

23.

24.

SECTION B
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What are demand deposits ? 1
o el ¥ Fr e B 2 |
What is balance of payments ? 1
T e ¥ I o |

Define ‘capital goods’. - ; : : : 1
Yo el @ aRem GR | '
Define ‘real’ gross domestic product. , 1
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Define Legal Reserve Ratio. ' | 1
Jy s ffy o i o ST |

Distinguish between autonomous and accommodating transactions in
the balance of payments. : 3
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Explain with the help of examples, the distinction between direct tax

‘and indirect tax. - 3
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An economy is in equilibrium. Its national income is ¥ 5,000 and
autonomous consumption expenditure is ¥ 500. What is the total

consumption expenditure if marginal propensity to consume is 0-7 ? 3
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95. When price of a foreign currency rises its supply also rises. Explain,
why. :
OR

When price of a foreign currency falls its demand rises. Explain, why.
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Explain how ‘externalities’ are a limitation of taking gross domestic

product as an index of welfare.
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Explain the ‘economic stability’ objective of a government budget.

OR

Explain the ‘allocation of resources’ objective of a government budget.
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28.

29.

From the following data about a government budget find (a) revénué

deficit, (b) fiscal deficit and (c¢) primary deficit : ; 4
X arab)

(i) Plan capital expenditure - 120

(1) Revenue expenditure | 100

| (iii)  Non-plan capital expenditure e 80

(iV) Revenue recei?ts 70

) Capita} receipts net of borrowing 140

(vi) Interest payments 30
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Giving reasons, explain the treatment assigned to the following while
estimating national income : - 4

(1) Contribution to provident fund by the employers

(i)  Free dress provided to nurses by the hospital
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30. Explain the role of the follo’Wing in correcting deficient demand in an
economy :

(1) Government expenditure
(i)  Legal reserve
: OR

Explain the role of the following in correcting inflationary gap in an
economy :

(1) Open market operations
(i)  Government expenditure
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31. How do commercial banks create credit ?
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32. Calculate ‘Net Domestic Product at Factor Cost’ and ‘Net National
Disposable Income’ :

64 crofe)
(i) Net factor income to abroad . 30
(i)  Sales o 2000
(iii) Subsidies . 20
(iv) Consumption of fixed capital : ‘ 50
(v)  Net current transfers to abroad 4 (=) 10
(vi)  Closing stocks : 100
(vii)' Opening stocks , : 200
- (viii) Intermediate costs ' 1000

(ix) Indirect tax : 150
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(iv) o9 STt &1 99T , 50
(v) foel & freer =] (Ffm) sxiar (=) 10
(vi) offm w®m o ~ 100
(vi) e wiE | 200
(viii) 7eEd @r| 1000

(ix)  3TITE R 150
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